
5
1

10
1

7
1

1
1

3
1

6
1

11
1

14
1

2
1

15
2

4
3

9
1

8
1

12
1

13
1

Pos CPN Titolo Qty

1 DGD 010 MK2  Titanium axle 1

2 DGD 011 Trascinatore 1

3 DGD 020 Planetario 1 1

4 DGD 023 Bearing 1/4 x 3/8 x 1/8 3

5 DGD 001-86  64dp Corona Gear Diff 1

6 DGD 020 Planetario 2 1

7 DGD 009 MK2 Doppio esagono 1

8 DGD 024 Portamolle 1

9 DGD 021 MK2 Pacco 2 molle int.4mm 1

10 DGD 021 MK2 DADO AUTOBL. M4 1

11 DGD 013 tappo diff 1

12 DGD 021 MK2 Grub screw  M3*3 1

13 DGD 021 MK2 Maintenance Kit 1

14 DGD 006 satellite 1

15 DGD 021 MK2 Grub screw  M3*3 2


